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THE FIRST STEP TOWARDS
YOUR DEFENCE DREAM

MODEL TEST PAPER-001 FOR CLASS 12™

Duration :- 2.00 Hours Max Marks: - 400

This test contains 100 questions. Each question comprises four responses (answers). You will
select the response which you want to mark on the Answer Sheet. In case, you feel that there is
more than one correct response, mark the response which you consider the best. In any case,
choose ONLY ONE response for each item.

All questions carry equal marks.

In this exam each question carries 4 marks for the right answer, no negative marking.

If a question is left blank i.e., no answer is given by the candidate, there will be no penalty for

that question.
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ENGLISH

Direction: Read the passed and give the
answers.

Florence Nightingale rendered a unigue service
when the call came to her from the government
to help the wounded and suffering in the hospital
at scutari during the Crimean war. The conditions
in the hospital were horrible. There was dust,
indifference and inefficiency. There was hostility
to a woman who was assuming such a great
public responsibility. It was an insult to the vanity
of men. They raised all possible obstacles in the
way. But she was an autocrat. She bore down
and swept away all opposition. The hospital
became an ideal place and the wounded soldiers
worshiped her like an angel. the lady with lamp;
as the soldiers lovingly called her, became a
national heroine. The national showed its
gratitude to her by raising a huge sum for her
benefit, but Florence showed herself to be
greater by contributing the sum for the setting up
of an institution for the training of nurses. Her
ambition was not merely to build a profession of
nurses but an entire nation of nurse. And she
succeeded admirably in her mission.

Florence Nightingale found the conditions in the
hospital

(a) as usual
(c)agreeable

(b) extremely bad
(d) somewhat bad

The implication of the statement ‘But she was an
autocrat’ is-

(a) condemnatory
(c) idiffent

(b) appreciative
(d) clever

Florence Nightingale was opposed in her word
because

(a) she wanted to do good job.

(b) It was an insult to men’s ego.

(c) she was inexperienced.

(d) she was trying to help the enemy.

Florence Nightingale contributed her money to
set up an institution for training to nurses
because she

(a) was intelligent

(b) was called ‘The lady with the lamp’

(c) was after fame

(d)loved making.

5. Identify the antonym of the given word.

‘Reprimand’
(a) Encourage
(c)Release

(b) Recommend
(d) Praise

6. ldentify the synonym of the given word.
‘Credulous’

(a) Trusting
(c) Interpret

(b) Joyous
(d) Interest

7. Change the Voice.
Somebody told me that there had been an
explosion in the Town Hall.

(a) Somebody told me that there had been an
explosion in the Town Hall.

(b) I was told about the explosion in the Town
Hall

(c) I was informed that there was an explosion in
the Town Hall

(d) I was told by somebody that there had been
an explosion in the Town Hall

8. Directions : Choose the Best Expresses
Meaning for the word from the suggested
alternatives.
Condone
(a) Ignore
(c) Forget

(b) Overlook
(d) Forgive

9. Direction :In the following question, out of the
four alternatives, select the alternative which best
expresses the meaning of the idiom / phrase

To keep the wolf from the door
(a) Avoid starvation
(b) Crack the deal
(c) Entry prohibited
(d) Have a pleasant tour

10. Direction: In the following question out of the
four alternative select the word opposite in
meaning to the word given .

GREGARIOUS
(a) Affable
(c) Genial

(b) Introvert
(d) Urbane

11. Direction: In the following questions, out of the
four alternatives, select the alternatives which is
the best substitute of the phrase.

One skilled in telling stories
(a) Ventral (b) Fanatic
(c) Raconteur (d) Tyro
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12. Direction: improve the bracketed part of the
sentence.
She is (the best and wisest) girl in the class
(a) Best and wisest
(b) A best and a wisest
(c) The best and the wisest
(d) No improvement

13. Direction : A sentence has been given in
Direct/Indirect Speech. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct
speech.

The teacher said to the student, “Recite the
Poem loudly”.

(a) The teacher told the student, "that the poem
may be recited loudly".

(b) The teacher asked the student to recite the
poem loudly

(c) The teacher expected that the student will
recite the poem loudly

(d) The teacher commanded that student that he
should recite the poem loudly

14. Direction : Fill in the correct verb to make the
sentences a complete meaningful.
since early morning.
(a) rained
(b) is raining
(c) has been raining
(d) will have been raining

15. Choose the wrongly spelt word:
(a) Perch (b) Laek
(c) Reach (d) Breach

16. Direction: Choose the correct Active Voice-
Our Army has been defeated.
(a) The enemy has defeated our army
(b) People have defeated our army
(c)Who has defeated our army?
(d) Our army has defeated

17. Direction: Give the plural of the given word.
‘Goose’
(a) Gooses
(c) Geese

(b) Goose
(d) Goosee

18. Direction : Choose the correct word.
(a) Begining (b) Beggining
(c) Biginning (d) Beginning

. What does the phrase ‘A close shave’ mean
(a) A lucky escape
(b) A well guarded secret
(c) Aclean shave
(d) A narrow escape

. Choose the antonyms
Admire
(a) criticize
(c) help

(b) praise
(d) abuse

. Choose the synonyms
Envious
(a) bitter
(c) angry

(b) jealous
(d) resentful

. Noun of the given verb is
Save
(a) Safe
(c) Safely

(b) Safety
(d) Saved

. Fill in the blanks with prepositions
He died cholera.
(a) from (b) of
(c)to (d) by

. Nothing but memory

(a) remain (b) remains
(c)remaning (d) remembered

25.Choose the correctly punctuated sentence :
he said who is there.
(a) He said who is there.
(b) He said, “Who is there?”
(c) He said, who is there?
(d) He said that, “who is there.”

MATHS

26.The functionf: R - R defined by f(x) = e* is
Qvd fiR->R tgkj f(x)=e* gS
(&) Onto (vkPNknd)
(b) Many-one (cgqg, sd)
(c) One-one and into ( , dSdh rFkk
vUr%{ksih)
(d) Many one and onto ( cgqg, sd
rFkk vkPNknd)

27.Domain of the function log|x? — 9] is
Qyd loglx? —9| dk izkUr gS
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@R

(b) R-[3,3]

(c) R-{-3,3}

(d) None of these buesa 1s dksbz

ugh

. 1-cosmx
28. llmx_,()l m =

(@) m/n

(c) m*/n?

(b) n/m
(d) n? + m?

1—cosmx
29.lim =
x=01 4 _cosnx

(@) 0 (b) 1
(©) 1/2 (d) 1/3

30.1n order that the function f(x) = (x +
1)'/* is continuous at x = 0, £(0) be
defined as

0yd f@=(+DFx=0 ij
larr gS rks f(0)dk eku
gksxk

(@ f(0)=0
(c) f(0) =1/e

(b) f(0) =
(d) f(0)=1

31.The tangent to the curve y = e?* at the
point (0,1) meets X —axise at
fcUng (0,1) o@ y=e?* 17
[khPkh x;h Li"kZ js[kk
X—-v{k dks fdl fcUng ij

feyrh gSA
®) (~30)

(a) (0.1)
(d) (0,2)

(c) (2,0)

32.The co-ordinates of the point on the curve
y = x? — 3x + 2 where the tangent is
perpendicular to the straight line y = x
are
o y=x>-3x+2 1j ml fcUng
ds funsz’kkad ftl ij
[kkhaph x;kh Li’"kZ js[kk
Js[kk y=x ij yEcor gS
(a) (0,2) (b) (1,0)
(c) (-1,6) (d) (2,-2)

33.1f P(A) = g and P(AN B) = % then P(B/A)
=is equal to
; fn P(A) =
rks P(B/A)
(@) — (b)
© 2 © 5

rFkk (AN B) =£

34.A and B tosses a coin alternatively, the
first to show a head being the winner. If A
starts the game, the chance of his
winning is
A rFkk B de’ks ,d fl1Ddk
mNkyrs gS tks igys ‘kh”kZ
ik;sxk ogh fctsrk gksxkA
;fn A [ksy ‘kg: djrk gS
rks mlds thrus dh izkf;drk
gksxhA
(a) 5/8 (b) 1/2
(c) 1/3 (d)2/3

35.Giventhe sets 4 = {1,2,3,},B = {3,4},C =
{4,5,6},then AU (BN C) is
leqPPk; A={1,23},B=1{34},C=
{4,5,6}, rks Au(BnC) dk eku
gksxkA
(@) {3} (b) {1,2,3,4}
(c) {1,2,4,5} (d) {1,2,3,4,5,6}

36.The number of non-empty subsets of the
set {1,2,3,4} is
leg0 {1,2,3,4} ds vfjDr
milegPp;ksa dh lal[;k
gksxhA
(@) 15 (b) 14
(c) 16 (d) 17

37.1f twice the 11" term of an A,P is equal to

7 time of its 21 term, then its 25™ term is
equal

(a) 24 (b) 120

©0 (d) None of these
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38.In an A.P., the first term is 2 and the sum

of first five terms is 5. Then the 31 term
is.

fdlh 10 Js0 esa izFke in 2
gS rFkk izFke inksa dk
;ksx 5 gS rks 31lok; in
gksxkA

(a) 13 (b) 17

(c) -13 (d)y5

39.Fifth term of a G.P. is 2, then the product

of its 9 terms is

fdlh eg0Js0 dk ikjpok; in
2 gS rks blds izFke 9
inksa dk xqg.kuQy gksxkA

(a) 256 (b) 512

(c) 1024 (d) None of these

40.1f x =7 + 4V3, thenx+%=

;fn x=+7+4+4V3, rks x+%=
(a) 4 (b) 6
(c)3 (d) 2

1

41.1f one root of a quadratic equation is ——

1+V/3
then the quadratic equation is

;fn fdlh f}tkr lehO dk ,d

1
ewy mgs rks f}tkr 1lehO

gksxkA

(@2x*+x—-1=0
(b) 2x2 —2x—1=10
(€ 2x*+2x+1=0
d)2x2+2x—1=0

If z, = (=3,2), then * equals
2

Z1

;fn z, =(-3,2) rks —=
2
—-23 -2 2 =23
@ (5) ®) (55:5)
-2 —23 -2 23
© () @ (3.2)
If 2x = 3 + 5i then the value of 2x3 +
2x2 —Tx+72is

;fn 2x=3+45i rks 2x3+42x%*-—
7x + 72 gksxkA
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44.1f 5 tan 6 = 4, then

(@4 (b) -4
() 8 (d) -8

5sin 6—3cos 6

5sin 6+2cos 6

; fn 5tan 6 = 4,then M
5sin 6+2cos 6

(@0 (b) 1

(c) 1/6 d) 6

45.1If cos® — sin® = V2 sin 0, then cosO +

sin® is equal to

; £n cos® — sin® = V2sinB, rks
cosB +sin® cjkcj gksxkA
(a)V2 cosH (b) V2 sin6
(c) 2cosH (d) —=V2 cosb

Af f(x) = cos?x + sec?x, then

;fn f(x) = cos?x + sec’x rks
@fx)<1 ) fx)=1
) 2<fx)<1 d) fx) =2

.Thecircle x> + y* +4x — 4y +4 =0

touches

O Rr x*+y?4+4x—4y+4=0
Li"kZ djrk gS

() x — axis

(b) y —axis

(c) x — axis and y — axis

(d) None of these buesa 1s dksbz
ugh

48.The equation of the circle passing

through the points (0,0), (0,b) and (a,b) is
ml o Rr dk lehO ftldk
dsUnz gS rFkk tks o RRk ds
dsUnz 1ls gksdj tkrk gSA
@x%2+y*+ax+by=0
(b)x2+y?—ax+by=0

C)x*+y* —ax—by=0
(d)x*+y?>+ax—by=0

49.The line y = mx + 1 is a tangent to the

parabola y? = 4x, if
;In js[kk y=mx+1 ijoy;
y?=4x, dh Li’khZ gS rks




@m=1 (b)m =2
(cgm=4 dm=3

50. Equation of the ellipse with eccentricity%
and foci at (£1,0)is

ml nh?kZo Rr dk 1lehO ftldh

mRdsUnzrk > rFkk ukfHk
(£1,00 gS] gksxkA
2 B+l =1
4 3
(d) None of these

51. Qutab Minar is located in :

$dd HIAR gl a8
(a) Kolkata (b) Mumbai
(c) Delhi (d) None of these

(@) FeTRTAT (b) #HS
(c) faeelr (d) 317 & IS L

. Lal Bahhadur Shashtri Cricket Stadium is
located in:

Tel SgTeY AT fohehe Tf3ad el €
(a) Hyderabad (b) Kanpur
(c) Kolkata (d) None of these

(a) gexTeTe (b) =TeTIT
(OEIGEIG! (d) 3T & IS G

. Army day is celebrated on:

Qa1 &aq & AT S ¥

(a) 15 January (b) 26 January
(c) 30 January (d) 15 August

(@) 15 SFAadr (b) 26 STeTa
(c) 30 STeTadr (d) 15 319 ET

. ‘Bulls and Bear’s is a term used in:
gl Us 43R rearaell gl e gl &
(a) Bull fight (b) Politics
(c) Stock Exchange (d) None of these

(a) T I3 CRELIG]
(c) ETeh TS (d) 5797 O IS 7TET

. Name the child artist playing the lead role in
the movie ‘Harry Potter’:

PACGE NO. €

2 gleT oA & T FolPR & fFER
fohaer fosmar ar

(a) Daniel Radcliff
(c) Tom Felton

(a) st EfFa®
(c) TTH PocaT

(b) Rupert Grint
(d) Rechard Haris

(b) &€ fic
(d) =5 T

. The most populated state of India is:

AR HT AR FTATEAT aTell T

(a) Kerala (b) Uttar Pradesh
(c) Bihar (d) None of these

(a) el (b) 3R 92T
(c) foer (d) 39 q IS AT

. Gulf of Mannar is located in

HeoTX T @Er ud §
(a) Tamil Nadu (b) Karnataka
(c) Kerala (d) Andhra Pradesh

(a) AFACTZ (b) eATeeh
(c) e (d) 3T &

. Which city was attacked by Atom Bomb on

05 August, 1945.
6 31T 1945 T fohd AT H WA T
R arar or

(a) Berlin (b) Hong-Kong
(c) Hiroshima (d) None of these

(a) SfetsT (b) BTIT-hTaT
(c) RRIAT (d) 3T & IS LT

. The scientific study concerning population is

known as...
STAHEAT & eI FAT hgolldl g

(a) Econometrix (b) Demography
(c) Sericulture (d) None of these

(a) SHIAATCFH (b) SHITHY
(c) TP’ (d) 313 & IS AT

. Who was the first Commander in chief of

Independent India?

TadT ARA & Ugel HAST 3o G Hid I
(a) Gen K M Kariappa

(b) Gen V P Malik

(c) Gen B N Sharma
(d) Gen Shanker Roy Chaudhary




(@) STeIXel o TH HiX3ToAT
(b) STeTet aY O Aol
(¢) SToIRel &Y TeT QAT
(d) STeTRel Qe T ATerdy

. My sore is famous for
AR w4t afg ¥
(a) Jute Industry (b) Silk
(c) Grapes (d) Zink

(a) S 31T (b) e
(c) 3T (CIEED

. Where the famous Golkonda Fort situated?
uilg aMerchsT 1 el el Fud §
(a) Hyderabad (b) Mumbai
(c) Bhopal (d) None of these

(a) ¥eXTETE (b) HS
(c) #aTer (d) 3TH 9 IS T8

. Independence Day speech is delivered

Tady feay o1 VT gl ¥ foar Jrar &
(a) Red fort

(b) India Gate

(c) Gateway of India

(d) Rashtrapati Bhawan

OGIGRETI OEERIKI
(c)3ed 3w 3T (d)rSeufa saeT

. Who has written the book ‘Ananda Math?
3IEHS & @ HiT

(a) Bankim Chandra chatterjee

(b) Abdul Fazal

(c) Kali Das

(d) Tagore

(a) Sfha I Tesit

(b) 37sgeT Hofel

(c) FTel ST

(d) SR

. Which country is known as Gift of Nile?
fPg 2 I el ST T TG gl ATl &
(a) Egypt (b) Rome
(c) Japan (d) Fanaland
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(@fFa
(c)STTaTe

. What is Laptop?

AUeIT U 4T §

(a) Computer (b) Phone
(c) Portaole TV (d) Camera
()T (bywreT

(c)arefer &y (d)FFRT

. Where is the confluence of three holy rivers

the Ganga Yamuna and Saraswathi located?
oieT gfqe SAfer e JHAT 3R FXEA A
HIH gl gIT &

(a) Patna (b) Prayagraj

(c) Mathura (d) None of these
(a) 9T (b) TR

(c) AYXT (d) SoTH & IS T

. Hazaribagh National Park is situated

(a) Jharkhand (b) West Bengal
(c) Orissa (d) None of these

(a) IRES (b) GT2TH FaTTer
(c) 35141 (d) ST O IS @I

. Income Tax is collected by?

I fhdesh GaRT T fohdT ST &

(a) Centre government (b) State government
(c) RBI (d) None of these

(a)ohg TP (b) TT THR
(c) RBI (d) ST A FIS g

. Which of the year is not leap year?

Aaf@a & O ia ar a¥ v g a¥
qE &

(a) 1992 (b) 1996

(c) 1934 (d) 1952

. Which country flag has five colours.

Foeu & d ug W g
(a) Portugal (b) Nepal
(c) China (d) Iran




(a) qJamel (b) J9TeT 77. In a certain code language, “REMOTE” is written
> as “KYSPGS” and “BRAND” is written as “IRDTC”.

Okig (d) $T=7 How is “MOBILE”
Written in that code language?

- .
72. Year shortest day |sé?r IR us RfRrSE #g AT A, “REMOTE” & “KYSPGS”
Il T {IH DI il for@r Srar & a2r “BRAND” &1 “IRDTC” forar

(a) 21 June (b) 21 March - "
(c) 23 September (d) 22 December ST &1 §8 FIS HIN 37 “MOBILE” FT 7 9oR
(a) 21 ST (b) 21 AT foram seam?

g gt (a) FMICPN (b) KQMEQN
(©23 (&) 22 (c) DKHANL (d) DMHCNN

. . o
73. Who invented rail engine? . In the following question, from the given

I §37eT &1 3TfashR fohder fohar ar alternative words, select the word which cannot
(a) Thomas Saver be formed using the letters of the given word.

(b) George Stephenson Abandoned

(c) James Watt . -
(d) Jacob Leupold few 71w gea A, fAeafof@a Reeai A A ag

(a) ATHT Jaq (b) SiteT TR g, YIAT S FET 31T 2reg; oh &R T FATaT
(c) SIFH AT (d) Siehel ogUles T AGT TATAT ST HhT & |

_ Abandoned
74. The Muslim League demanded a separate (a) Bonded (b) Banded
State for the Muslims in the year: (c) Bland (d) Bane
HIRTTH 9T o AHAAE & T T gy
T $T AT & T o . If ‘A+B’ means ‘A is father of B’, ‘A-B’ means ‘A is
(a) 1935 (b) 1940 En‘c))th,er of B, I’A*I.3' means ’A’is brother of B’ and
(c) 1930 (d) 1920 A%B’ means ‘A s sister of B, then how is Q
related to S in ‘P+Q*R-S’?
75. On which day United Nations Day falls? gfe ‘A+B’ T 31 ‘A, BT AT &7, ‘A- B’ T 37
fre et vy USg w9 feaw AeArar St ‘A*B’ ST 37 ‘A, B T HTS & TUT ‘A%B’ &1 37 ‘A,

¢ BT dgaT &', dl ‘P+Q*R-S' H Q, S ¥ fohd TR
(a) 30 October (b) 2 October ..
(c) 24 October (d) 14 October H(a)ﬁ'?ff" d o one
IFT TR a) Husban Uncle
(® 2097 (b) 2 373% (c) Brother (d) Father

(c) 24 3FER (d) 14 31 (2) 9f (b) 37her

©#15 (d) e

”

76. If “+” denotes “multiplied by”, “’+” “denotes
subtracted from”, “x” denotes “added to” and . In the following question, select the missing
“-” denotes “divided by”, then number from the given series.
12-6+28x%3+9="? 2, 4, 13,41, 106, ?
afg “+ &1 Y qO g, @ I meE §, fAEafaf@d ueat # fov are fashedt & & oo
X' T 7 S q; 0 H A T L, A 37 A FT
12-6+28%x3+9=" 2,4,13,41,106,?
(a) -24 (b) 1 V(a) 172 (b) 191
(c)-53 (d) 8 (c) 219 (d) 232
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81. Arrange the given words in the sequence in
which they occur in the dictionary.
1. Herbivorous
Harmony
House
Honour
. Helm
fAFATATRIT 2TseT T QrsgahIer H 37Te dTel
A & 3TAR ford |
1. Herbivorous
2. Harmony
3. House
4. Honour
5. Helm
(a) 12543 (b) 25143
(c) 21534 (d) 12354

82. In the following question, select the odd
number from the given alternatives.

Ffefad ueT H G av Ao A &
faws g i gfav|

(a) 361 (b) 441

(c) 784 (d) 876

83. In the following question, select the odd
letters from the given alternatives.

raf@ama A Rr v Aecar A T
fawa 3Rt 1 gfaw)

(a) KQ (b) DJ

(c) Sz (d) RX

84. Inthe following question, select the related
number from the given alternatives.
50: 65::122:?
ArAT T U A G av [qsheur H A
e HET Y AT |
50: 65::122:?
(a) 157 (b) 145
(c) 147 (d) 155

. In the following question, select the related
letters from the given alternatives.
HMPU: 10SY:: GMRF:?

AIforE@d UeT # feu v Ashedi H &
AT 37&RT A1 AT
HMPU: 10SY:: GMRF: ?

(a) FKOB (b) HOUJ
(c) HPUJ (d) HOJU

86. In the following question, select the related
word from the given alternatives.
Vacant: Empty:: Dearth:?

fArfafad yea A v v Reeat A S

HeOT 2reg; T giav|
RereT: GTelr:: 31eTer:?

(a) Descend (b) Scarcity
Goldl 3eddr

(c) Squander (d) Abundant
39T gaTeT

87. In the following question, select the number
which can be placed at the sign of question
mark (?) from the given alternatives.

Arfaf@d ueT 7 fGv av [peair A 8
T2 RIEA(?) % TUTeT W 3T aTell T&AT &
gfaT]

5 5]
(4 7] [2]104 6] [7T[?2]8]
3

8

(a) 108 (b) 112
(c) 118 (d) 120

88. If4x9x3=4and5x%x3x1=3,then
9x9x7="7
afg4x9x3=4Ta5x3x1=38,ar
9x9x7="7
(@5 (b) 6
(c)7 (d)9

89. In the following question, correct the question
by interchanging two signs.
6+8+4-4=8
ATl ad 92T H fohegr o Iegl 3 WER

e G ITT THIHIOT I TET I |
6+8+4-4=8

(a)+and = (b) +and +

(c)+and- (d) + and —

90. In a certain code language, “BIOLOGY” is
written as “YRLOLTB”. How is “PHYSICS”
written in that code Language?
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e faferse g AT H, “BIOLOGY” i
“YRLOLTB” fordr ST &1 39 i T

#H “PHYSICS” ! fohg YarR for@r SATTam?

(a) KSXRBHH (b) KSBHRXH
(c) XHRHBSK (d) KSBHXRH

91. In the following question, from the given

alternative words, select the word which
can be formed using the letters of the
given word.

feT are ge 7, AR fasedt &
¥ I Usg, AT S T T 2reg; 3 38T 1
TAVIT b SATAT ST FeheT & |

CAPITULATE

(a) CAPABLE (b) LUPIN
(c) PITTY (d) TALE

92. In a row of 74 girls, Shweta is 27" from left

end. Palak is 7™ to the right of Shweta.
What is Palak’s position from the right
end of the row?

74 FTSTHAT &1 T gfard &, T I ©R
T 27-d TUTH WX | IoTeh, 23dT o S 7-d T

T & Toleh ol TATT Ufard & e B Hr 3wy
FATE?

(a) 40 (b) 41
(c) 42 (d) 44

. There are five students — P, Q, R, S and T having
different heights in a class. P’s height is more
than only one student. Q’s height is more than S
and P but not more than R. S’ height is more than
P. R is not the smallest. Who is having the
maximum height in the class?

Uk &1 & 91T BTAI- P, Q, R, S TAT T HI TS
3TSAT-3TeT9T & | P T 3T haol

U OTF T 3% &1 QY 3a1s s aur P & 318
g, AfPTRA MR AL 8IS FFTSPH

31T §| R T9 BleT 16T ¢ | Ha&T H Tad 31
Fars foraedT &2

@Q (b) R
(T (d)s

94. In the following question, select the missing

number from the given series.
19, 38, ?, 228, 684, 1368

fArafafad gt # few o fashedt # & oo
37 AT T
19, 38, ?, 228, 684, 1368
(a) 108 (b) 113
(c) 114 (d) 138

. In the following question, which one set letters

when sequentially placed at the gaps in the given
letter series shall complete it?

_YzZaa _Yy_ Xy_aazy _

e et # 38R &1 it &1 Hefg
Grell FATAT TR SHHTN TG I & 318 T el
I QR HaT?

_Yyzaa_y _Xy_aazy _
(a)xxzzx (b) xxaza

(c)xzxzx (d) aazzx

. Arrange the given words in the sequence in

which they occur in the dictionary.
1. Flinching
2. Flintlock
3. Flinpites
4. Flintlocks
5. Flinchers

fAFATI T 2recT I erecahIer # 31T aTel A
& TR ford |
1. Flinching
2. Flintlock
3. Flinpites
4. Flintlocks
5. Flinchers
(a)15243 (b) 51243
(c) 51324 (d) 51342

. In the following question, select the odd word

pair from the given alternatives

fArafaf@a et & f&u arv fashedt # @ faws

WIse JIH AT AT

(a) Venus: Planet (b) Moon: Satellite
Uk TG die: 3UIE

(c) Jupiter: Black Hole (d) Sun: Star

JEEUla: ol grel & anr

PACGE NO. 10




99. In the following question, select the odd number
from the given alternatives.

AT @ a2t & U v faeheui & & fawsr

HET & G|
(a) 253 (b) 473
(c) 143 (d) 633

100. In the following question, select the odd letters
from the given alternatives.

AAf@d IeT A Ru T Fhcair # Y AvH
37&RT Y AT |

(a) MN (b) NM

(c) OL (d) ET

PACGE NO. 11




